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) SERIHhD T in(ZkEEd 5L i SMERIHA
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&S X 4 Er%:né){ ‘Fﬁﬁb\(‘z)@ﬁ%’é jj(gilch)é X 4 —Fﬁﬁﬁg\é:z(?;mz '(r%:n? jj(gilch)é X 4 ;.iz_)k J:ﬁﬁ‘ab\(‘:)d)tt'.%‘ jj(lfifn?)é X 4 J:ﬁﬁ‘ab\(‘:)d)tt'.%‘ ﬁ? Jj(lfifn:é)é
7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 677 85.58 | #nLS | 000 ~ 0.00)| 1.57 7.93 st 1.00 | 6.00 ~ 9.50 85.68 | #nhLS | .00 ~ 930 1.57 7.93
2 100kN/m%E#BZ5 | 1.00 | 000 ~ 017 102.564 |3mEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 10.73 ~ 11.22| 10254 |3m%E#Z5 - ~ — — —
s 1.00 | 017 ~ 796 100.00 | =0t | 0.00 ~ 7.96 | 2.09 10.568 st 1.00 | 6.00 ~ 10.73 100.00 | =4t | 6.00 ~ 1122] 2.09 10.58
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 028 104.19 |3mEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 1093 ~ 11.80| 10419 |3m%E#Z5 - ~ — — —
s 1.00 | 028 ~ 807 100.00 | =0t | 0.00 ~ 807\ 2.06 10.40 st 1.00 | 6.00 ~ 1093 100.00 | =4 | 5.00 ~ 1180 2.06 10.40
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.14 64.06 | FnLSY | 000 ~ 000| 1.72 871 st 1.00 | 6.00 ~ 5.50 64.06 | Ths | 500 ~ 5560 1.72 871
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zh st -~ = — — Fhst — - ~ — —| #h st - ~ — — —
7 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst — - ~ — —| #nst -~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| #nst - ~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
11 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
12 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| #nst - ~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
13 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — ZhLst — - ~ — —| Fnst - ~ — —
14 100kN/mM%E{BZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — zhst — - ~ — —| Fnst - ~ — — —
P 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — -~ — —| #nst -~ — — — Zhst — -~ — —| Fnst - ~ — —
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16 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
17 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
18 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
19 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
2 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
21 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zh st -~ = — — Fhst — - ~ — —| #h st - ~ — — —
29 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
23 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst — - ~ — —| #nst -~ — — — ZhLst — - ~ — —| Fnst - ~ — — —
24 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst — - ~ — —| Fnst - ~ — — — Zhst — - ~ — —| Fnst - ~ — — —
25 100kN/m#E#Z5| 100|000 ~ 1.72| 12644 |3mE#ZB| — ~ — — — | 100kN/m%#Bz% | 1.00 | 1064 ~ 1653| 126.44 |3mE#BZS - ~ — — —
zhlst 100|172 ~ 951 100.00 | #hst | 000 ~ 951 246 12.43 zhilst 1.00 | 6,00 ~ 1064 100.00| FnLS | 500 ~ 1653| 2.46 12.43
2 100kN/m#E#Z5 | 1.00 | 000 ~ 159 12428 |3m&E#ZB| — ~ — — — | 100kN/mM%z#B=z% | 1.00 | 1063 ~ 1644| 12428 |3mE#Z5 - ~ — — —
ZhLlst 100|159 ~ 937\ 100.00| Fhis | 000 ~ 937|230 11.64 zhLlst 1.00 | 6.00 ~ 1063 100.00| FhLs | 500 ~ 1644| 2.530 11.64
27 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhlst 1.00 | 000 ~ 657 82.80 | #hs | 000 ~ 000 1.76 8.88 zhilst 1.00 | 6.00 ~ 7.84 82.80 | #hs | 600 ~ 7.84| 1.76 888
28 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 000 ~ 775 99.55 | =nLS | 000 ~ 7.75| 2.04 10.50 ZhLst 1.00 | 6.00 ~ 1100 99.55 | #hst | 5,00 ~ 1100| 2.04 10.30
29 100kN/mM%E{BZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
zhLlst 1.00 | 000 ~ 6.79 85.82 | This 000 ~ 679 1.84 9.28 zhilst 1.00 | 6.00 ~ 840 85.82 | #hst | 5,00 ~ 840 | 1.84 9.28
20 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.69 84.47 | FnLS | 000 ~ 6.69| 1.83 9.26 Zhst 1.00 | .00 ~ 820 84.47 | =S | .00 ~ 820| 1.83 9.26
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21 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.34 79.77 | FnLS | 000 ~ 634 | 1.90 9.568 st 1.00 | .00 ~ 7.80 79.77 | #hSY | 65,00 ~ 7.80| 1.90 9.568
39 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 373 47.01 | #0000 ~ 373|214 10.84 st 1.00 | 6.00 ~ 5.00 47.01 | =hLs | .00 ~ 6.00| 2.14 10.54
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/m#%#8% % ~ IMEBZD ~
zhst ~ zhst ~ Fhst ~ Fhst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/m#%#8% % ~ IMEBZD ~
zhst ~ zhst ~ Fhst ~ Fhst ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/m#%#8% % ~ IMEBZD ~
zhst ~ zhst ~ Fhst ~ Fhst ~
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/m%#8% % ~ IMEBZD ~
zhst ~ zhst ~ Fhst ~ ZFhest ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/m%#8% % ~ IMEBZD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhnLst ~ ZhnLst ~ ZhLst ~ zhnLst ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




